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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Savings of Suresh and Marc = $100  (1) 

 Savings of Zainal and Marc = $193 

 Savings of 4 x Suresh and Marc = $193  (2) Zainal savings=4x Suresh’s 

 3 x (Suresh’s savings) = 193 – 100 = 93  (3) = (2) – (1) 

 Suresh’s savings = 93 ÷ 3 = $31 

 Marc’s savings = 100 – 31 = $69 

  

Ans:  $69 
 

 

 
7. Let mass of durian = u 

 Mass of watermelon = u + 640 

 Mass of jackfruit = (u + 640) x 2 = 2u + 1280 

 Total mass = u + u + 640 + 2u + 1280 = 4u + 1920 = 8720 g 

 4u = 8720  - 1920 = 6800 

 u = 6800 ÷ 4 = 1700 

 Mass of jackfruit = 2 x 1700 + 1280 = 4680 g = 4.68kg 

  

 

 

 

  

 

 

 

 

Ans:  4.68kg 
. 
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8. a) 

 Length of QR = 8.6 cm 

 b) 

  

 
Ans:  (a)  8.6 cm 
 (b)  as shown 

 

 

9. At first, 

 Ratio of Leon to Michael’s savings  9 : 7  27u :  21u 

 At the end, 

 Ratio of Leon to Michael’s savings 5 : 2   10u : 4u 

 27u – 10u = 17,  21u – 4u = 17u 

 17u = 680 

 u = 680 ÷ 17 = 40 

 Michael’s savings at first = 21u = 21 x 40 = $840 

  

 

 

 

Ans:   $840 
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10. a) 

 Month with the most savings = April 

 Aprils savings = 380 – 220 = $160 

 

 b) 

Savings at end of June = $540  
3
4
  

 
1
4
   $180 

 Total needed for present = 540 + 180 = $720 

         Ans:  (a)  April, $160 

 (b)  $720 

 

 

11. a) 

 Fraction that like short stories or novels = 1 - 
1
4
  = 

3
4
  

 b) 

 Percentage that like science magazines = 
64

360
  x 100 = 17.78% 

 c) 

 Percentage who like novels = 
3
5
 x 75% = 45% 

Ans:  (a)  
3
4
  

 (b)  17.78% 

 (c)  45% 

 

 

 

 

 

 

 



P6 Maths SA2 2018 Paper 2 Worked Solutions – Pei Chun 
 

 www.sgtestpaper.com  5  
 

 

12. Let price of television = u 

 Undiscounted price of mobile and TV = 1.4 x u = 1.4u 

 Discounted price of mobile and TV = 0.8 x 1.4u = 1.12u = 2016 

 Usual price of TV = u = 2016 ÷ 1.12 = $1800 

 

 

 

Ans:   $1800 
 

 

13. Let t = time in minutes after Taps were turn on. 

Base area of Tank A = 25 x 30 = 750 

Base area of Tank A = 25 x 50 = 1250 

Rate of height increase of Tank A = 1500 ÷ 750 = 2 cm / min 

Rate of height increase of Tank B = 1500 ÷ 1250 = 1.2 cm / min 

Water height of Tank B at first =  
1
4
  x 40 = 10cm 

Water height of Tank B = 10 + 1.2 t  

 Water height of Tank A = 2t  

 2t = 10 + 1.2t 

 0.8t = 10 

 t = 10 ÷ 0.8 = 12.5 min 

Ans:   12.5 min   
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14. a) 

∠ACB = 90 – 63 = 27° 

 b) 

 ∠DCG = 180 – 90 – 27 = 63° 

 ∠CGD = 180 – 63 – 63 = 54° 

 

 

         Ans:  (a)  27° 

          (b)  54° 

 

 

15. a) 

 Diameter = 20 cm 

 Perimeter of 12 semi-circles & 4 quadrants = 7 x π x 20 = 140π = 439.6 cm 

 b) 

 Area of 12 semi-circles & 4 quadrants = 7 x π x 10 x 10 = 2198 cm2 

 Area of square minus 4 corners = 80 x 80 – 4 x 10 x 10 = 6000 cm2 

 Area of mat = 2198 + 6000 = 8198 cm2 

        Ans: (a) 439.6 cm 
         (b)  8198 cm2 
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16. a) 

Extra distance Raja walked = 30 x 40 = 1200 m 

 
1
6
  of distance  1200 

 
6
6
  of distance  1200 x 6 = 7200 m 

 Raja’s speed = 7200 ÷ 40 = 180 m / min 

 Greg’s speed = 180 – 30 = 150 m / min 

 Greg’s distance = 1200 x 5 = 6000 m 

 Greg’s time = 7200 ÷ 150 = 48 min after 7:20 = 8.08 am 

 b) 

 Raja’s average speed = 180 m / min       

         Ans:  (a)   8.08 am 

          (b)   180 m / min 
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17. a) 

3
4
 x 

4
9
   

1
3
  Lee Peng’s ribbon was given to Janice  

2
3
 of Lee Peng’s ribbon = 126 

 
3
3
 of Lee Peng’s ribbon = 126 ÷  2 x 3 = 189 

 
1
3
  given to Janice  126 ÷ 2 = 63 

 b) 

 Ratio of Janice’s red to yellow numbers at first 1 : 2  5u : 10u  

 Ratio of Janice red to yellow numbers at last  6 : 5   12u : 10u 

 12u – 5u = 7u = 63 

 22u = 63 ÷ 7 x 22 = 198 

 

   

Ans:  (a)  63 

 (b)  198 

 


